1. Suppose you manage a group of seven employees in a
small business. Each of your employees wants to be
connected to the Internet. Consider two alternatives:

« alternative A: Bach employee has his-or her own
modem and conmects individually to the Internet

= Alternaftive B; The employees’ computers are con-
nected. using a LAN, and the network uses a single
moder (o connect.

b. Explain the:actions you need to take to create each
alternative.,

¢. Conipare the alierndtives using the eriteria in
Figure 6:16.

d. Which ofthese two alternatives do you recommend?

2. Consider the situalion of a company that hag two
offices at physically separated sites. Suppose. each
office has agroup of 15 computers.

a. Ifthe twooffices are retail art galleries, what is likely
to be the most commen type of interoffice commu-
nication? Given your answer, what type of WAN do
you think is most appropriate?

b. Suppose the two offices are manufacturing sites
that communieate via email and that regularly
exchange large drawings and plans. What are the

advantages and disadvantages of each of the four:

WAN types for these offices? Under what circuin-
staneeswould you recorimend a leased-line WAN?
¢: Suppose the two offices are the same-as described
in pixt b, but thati in addition each has salespeople

on the road who need to connect o the-office com-
puters. How would your answer to part b change?

. Would you change your answer to part ¢ if both

offices are located in the same building? Why or
why not?

. What additional factors would you need to consider
if one of the offices in part ¢ was i Los Angeles and:

the other was located in Singaporée?

3, Reread the Larry Jones (Student) Network Services

casé in the Innovation in Practice hox on page 197.

a.

Consider the first fraternity house that Larry
equipped. Explain how a LAN could be ised to con-
nect all of the computers in the house, Would you
recominend an Ethernet TAN, an 802.11 LAN, ora
cotbination? Justify youranswer.

. This-chapter did Hot provide enbugh infermation

for you to determine how nmny switches the frater-
nity house might need. However, in general terms,
describe how the fraternity could use a multiple-
switch system. h

. Considering the connection to the Internet, would

vou recommend that the fraternity house use a
dial-up, & DSL, or a cable modem? Although you
can rule oot ar least ane of these alternatives with
the knowledge you alteady have, what additional
information do you needin order to make aspecific
recommendation?

. Should Larry develop a standard package solution

for each of his customers? What advantages
-agerué from d standdrd $olution? What are the dis-
advantages?




1. Assume you teach your MIS class and that a

student comes to your office one day and asks,

“Why do [ have to learn how the Internet works? Give

me three practical applications of this knowledge.”

How would you respond? Before you answer

this question, read and think about the questions

that follow.

. How important do you think the existence of the
TCP/IP—OSI protocols and architecture are to the
success of the Internet? How did they contribute to
the growth of the Internet? In what ways da protocals
decrease competition? In what ways do they increase
competition? In what ways do protocols stifte innova-
tion? In what ways do they facilitate innovation?
tixplain how protocol architectures enable many dif-
ferent vendors to create interoperable products. In
2007 and beyond, whar other industries might benefit
from a simmilar standard?

. Searc¢h the Internet for four companies that make
products for one or more of the five layers of the
TCPHP—OSI architecture. Search for terms intro-
duced in Chapter 6 and in this appendix, such as
802.3, 502.11, optical cable, VPN, firewall, switch,
FTP, and others, For sach company, name one of
their products, explain its function, and describe
how that product relates to the TCP/IP—OSI
architecture.

4. At one time, it was believed that the world would soon

run out-of [P-addresses. Accordingly, a new protocol
called 1Pv6 was proposed with longer IP-addresses

that provide many more unique IP addresses. During
that same time, however, DHCP and NAT began to see
widespread use, and their use dramatically reduced
the growth in need for unique I addresses. Explain
why this is so. Suppose you are the director of product
planning [or a high-tech company, and § years ago
you had been the initiator and principal proponent
for the development of a new line. of products based
on IPv6. Your product sales have been substantially
below your estimates. What do you do now? What
product development principle(s) ¢an you exiract
from this situation? How can you protect your organi-
zation from such situations in the futurc?

. The biggest bottleneck in the Internst {s the last mile

from the ISP to the home. Numerous cities are devel-
oping plans and proposals to provide optical fiber
cable to the doors of small businesses and homes.
When this occurs, applications that require high
handwidth, such as home movies, will become
feasible. Explain how companies such as Netflix
are positioning themselves to pounce on that high
bandwidth when it becomes available. Name three
other products or services that become feasible
when most homes have optical fiber cable at
the door. What companies or industries stand to lose
from the development of high-bandwidth capabil-
ity? If you worked in one of those companies, how
would you respond to this threat? Ilow can you use
the knowledge you gained from this queslion to
guide your scarch for your first jub?
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